T ERTEER (401)

THE4 | R2=14 WwmMmmsR = - =224 g T3 HEX Sy B R HER -
THXSy H R ERE
THX 5y - AR - 85 - A0 Bikk HLAZ e (40D
H R ERE
= 1
B3 I
= 1
B 1R T
= 1
HAVE (REIT) B LA k& < 0. 8m, EZEX Sy LA
m 12
TA7 7L
fL 8
HIEHK AT
= 1
HE®K A HEOF AME:200mm, B DF AN
A & :850mm
%N 36
S T
= 1
ER AP T
= 1
E AR 7 AT 7V b
SRR L=3. Okm
m3 0. 44
ALY FRRER 7 AT 7 b
m3 0. 44

=N

i



T ERTEER (401)

THE4 | R2=14 WwmMmmsR = - =224 g T3 HEX Sy B R HER -
THXSy H R ERE
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (mifa)) e (4m) sl e
Rz L
= 1
A R
= 1
A2 A B A
AH 3
SIS A B
AH 12
[EREMIE: -
= 1
B ST
= 1
M@kt (G L)
= 1
ol T
= 1
Bl E
= 1
THJRUifh
= 1
— A B
= 1

=N

i



T ERTEER (401)

THE4 | R2=14 WwmMmmsR = - =224 g T3 HEX Sy B R HER -
THXSy H R ERE
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e

T HAfliks

= 1
THE B K Ol 5 1 e B

= 1
THEF

= 1

=N

i



